INTEGRALS

Fill in the Blanks

1) f03 dx =

2) [sec?xdx =
3) f03 3x%dx =
4) fos 2xdx =

5) Integration is process of differentiation.
6) Definite integrals may also be calculated as of a sum.
7) JE F)dx=0iffis function.
dx

8) f 1+x2 =

/2 Vsinx _
9 fO Vsinx ++/cosx x =
100 [P fodx= [f(@) + f(a+h) + f@+2h) + e+ f(a+ (n— DA)].

Multiple Choice Questions

J-n/Z sin/2 x

—dx i ual t N
0  sin/2x+cosl/2x S equalto

(a)0 (b) 5 ()5 (d) 3
/2 sin3/2 . B

J.O Sin?/2 x1cos32 2 dx isequalto :

(2)0 (b)3 (©F (d) 7
| 2;:3 equals:
(a)log|2x + 3| + ¢ (b)log|2x — 3| + ¢ (c )l°g|2x+3| (d)l°g|2x+3|

d
I fos equals: log |2x—5 log|2x—5
(a)log|2x — 5| + ¢ (b)log|2x + 5| + ¢ (c)% +c (d)% +c
f_ll x3 cos x dx equals:
(a)o (b)1/4 (o) (d)none of these
/2 sin1/2 x .

fO Sinl/Z x1cosl/Zx dx is equal to :

(a)0 (b) 5 (% (d)
f_zz x3dx isequal to :

(a)o (b)4 (c)16/3 (d)

4
f_ll x sin? x dx is equal to
1 1

(a)0 (bl (c); (d)-1
Jy o i

(@) (b)3 (©% ()X



10

5.

5.

J-n'/3 cos* x

———dx i It
m/6 sin* x+cos*x $ equalto

()3 (b) (0= ()2

2 & 4 Marks Questions

Evaluate the following :

(a)f V1 —cos2x dx (b)[ tan~1 1osin® gx (c)f (x® — cos x + sec? x + Vx) dx

1+sinx
x _ 3 2%43* x*
(d)f(e* + 3 cosx — 4x3 + 2)dx (e)f = Y o " dx
(x—4)3 .
(g)f x2 dx (h )fl sinx (I)f 1+cosx
Compute the following :
log x etan”1x x? x%+4ax
(a)f =~ dx (b)f 7 dx (@ 1z d @ fsdx (@ seasd
secxdx e 6x—8 2x+9 .y [ COSX—sinx
(f)f log(sec x+tan x) (g)f sin 2x cos 2x dx (h)f3 2_8x+5 dx ()f x2+9x+20 dx (j)f cosx+sinxdx
2 dx dx
(k) [ (2x + 4)V/x2 + 4x + 3 dx W M 0 =
Integrate the following :
(a)sin? x cos3 x (b)cos? xsin®x  (c)tan3x (d)tan* x (e)tan* x sec? x
4 1+tanx . 1-tanx . 1
(f)sec X tan x (g)l cotx ( )x+logsecx (I’x+logcosx (J' /sin3 x cos x
sinx cos x sin(x—a) 1
(k)sin(x—a) (I)cos(x—a) (m)sin(x+a) ( )sin(x—a) cos(x—b)
Evaluate the following integrals :
4 4 1-tanx 1+tanx 2 43 X3
(a)f sec* x dx (b)[ cosec* xdx (c)f s % (d)f1 s d (e)[ x*e* cos (Ze )dx
e*(1+x) (tan sec?(2tan~1x) .\ ( sin(tan~1x)
(f)f ex+1 (g)f cosz(xex)d (h)f 1+x2 dx ()Ide (j)Ide
(k)f sin4x cos 7x dx (1) sin 7x sin 5x dx (m)f cos3x cos 5x dx

Evaluate the following integrals :

sin2x 1+sinx . dx 2*dx
()fsm5xsm3x dx (I )fl sin dx ("I)f9 2+6x+5 (Iv)f [x2—5x+7 (v)f\/1—4x
. dx .. dx
(VI)f 4sin2 x+5 cosZ x (Vll)f 1+3sinZ x (Vlll)f 1+3 sm2 x+8cos2 x (Ix)f dx (X)f

Integrate the following functions:



(a) xsec? x (b) x cos 2x sin 4x (c)sec3 x (d)cosec® x (e) x%e* (f) x% cos 3x

(g)log(4 + x?) (h) (log x)? (i) xcot™1x (i) sin~1x (k)tan™'x  ()tan"'vx

7. Integrate the following functions :

X o} 3x x 2 x (1=sinx
(a) e* sin2x (b) e°* cos 5x (c)e* cos“ x (d) cos(log x) (e)e (l—cosx)
x - x x—1 . o logx
(f) e*(cotx +logsinx) (g)e 1)l (h) sin(log x) + cos(log x) (')—(1+1ogx)2
8. Integrate the following functions :
1 cos x x+1 x? 1
(a) 5x2-20x+1 (b) cos3x ( )x2—4x+6 (d) x2+6x+12 (e) (x+1)(2x+1)
1 x? 1 . 1 . x
(f) (x+1)(x+2)(x+3) (8) x(x—1)(x-2) (h) x3-1 (i) (1-x)(1+x2) 1) (x=2)(x2+4)
9. Integrate the following functions :
2x 5-2x 4x+5 3x+5 \/ﬁ
(a) V(x+1)(x-2) (b )\/6+x x? (c )\/ 2x2+x-3 (d) N2 8x+7 () v8+2x—x
2 _ _ 2 X —1 X +1
fx+3)vVx2—=5x+1 (gBx—2)yx*+x+1 (h) oy U ey
1 1
0) s x4+x2+1 (k ) x4+1 ooy x4+x2+1 (m) x(x5+1) (n) x(x7+1)
10 Evaluate the following as limit of a sum :
@ o2+ Ddx (b) [2(x% + 2x)dx (© [2(x? + x)dx
0 2 1
(d)fy (x2 + 3x)dx (e) [%, e*dx () [, 3%dx
11 Evaluate the following :
/2 dx /2 dx mw/2 sin2xdx /2 dx
(a) f 4cos x+3 sinx (b) f 342 sinx+cosx (c) f sin* x+cos* x (d) f 4sin2 x+5 cos2 x

12 Evaluate the following integrals :

/2 x/cosx /2 1
@ ) e ves B )y e dx
/2 Yot x n/2  dx
( )f Vtanx+\/mdx (d) f 1+tan3 x
T xdx
(e) fO 4— cos2 dx (f) fO 1+sin x
6
(g)fo |x — 5|dx (h) f_6 |x + 2|dx
(i) f:/zlogtanxdx (i) fon/zsianlogtanxdx
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